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ohg []obol dure 48 A2 T S w2,

(1) 0.35 = 0.01 o] [ ]70°]1, 0.11 & 0.01 ©] [ |7A44 e}

(2) 0.35 +0.11 2 DutdU 712

@ (1) 3.5,1.1 (2) 0.46 @ (1) 35,11 (2) 0.46
@ (1) 35,1.1 (2) 0.46 @(1) 35,11 (2) 0.46
® (1) 350,110 (2) 0.46

(1) 0.35 &= 0.01 ©] 35 7Ho] L,
0.11 = 0.01 ©] 11 7{o]t}.
(2) 0.35 +0.11 = 0.46
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o2 & O BAE HIEA UEhd 22 o] ZRIZ] AIEAQ,
@® 3km 5m = 3.5km @ 206g = 2.06kg
@3.27 kg = 3270 ¢g @ 0.057kg=570g

® 50cm = 0.05m

B

@ 3km5m = 3.005 km
@ 206 g = 0.206kg

@ 0.057kg =57¢g

® 50cm = 0.5m
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(1) 2.77+5.08 (2) 5.16 + 12.78

@ (1) 7.75 (2) 62.94 @ (1) 7.75 (2) 17.94
® (1) 7.75 (2) 17.98 @(1) 7.85 (2) 17.94
® (1) 7.85 (2) 17.98

(1) 2.77 4 5.08 = 7.85
(2) 5.16 + 12.78 = 17.94
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(1) 47-0.27 (2) 6.05—0.96

@) 143 (2) 5.09 @ (1) 433 (2) 6.09
® (1) 4.43 (2) 5.49 @ (1) 4.33 (2) 5.09
® (1) 4.43 (2) 4.49

(1) 4.7-0.27 = 443
(2) 6.05 - 0.96 = 5.09




uk
o
.
o
2,
>,
n
o
2o
)
v
N
X,
Hl
>
_IE,
o

2 g o), 24 7o
Hegolw A A4 o] $29l AR 2 A 18 4 dEU7

@ 27K @ 37K ® 574
@+gerut.  © 107

B

7}




]
=

[T
H

]







@ 174 @ 274 ® 474




17.

Ale.

AR 274 o] ote] YA S 1] Z

el sfokgh .




18. thg SPolA BAA Aol o] 7S el ofn Mol
Aofo s1=7] oAl 2.

-1 =
L o ©
© HE T @ HE LT ® HE re
@ AR = @/\1‘:‘ 20




A= Tt

A

71—1?_'1_“'

ol Wiz o

=
=

® ofze]

@
®

o

F 2| Alef) 90°= Wik A4y,

S




@ 50° ® 60°

@® 40°

40

BREOZ 40° 0],

2 Fol7t Hal

o>

Zonz S go°dyrt.




[ ool 9wre 8 A2tz 78 AL o= AU

(1) 3.64= 0010 [ ]9l #9Ych
(2) 8.06-20.001°1 [ |91 Yt

D (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060

® (1) 36.4 (2) 8060 @ (1) 364 (2) 806

O

®)(1) 364 (2) 8060

B

(1) 3.64 = 3+ 0.64

32 0.01°] 3000] 1, 0.64= 0.01°] 640] 22
3.64=0.01°] 36421 =JYrct.

(2) 8.06 = 8 4 0.06

8-20.001©] 8000 ©] 1 0.06-Z 0.001 ©] 60°] =&
8.06-2 0.001°] 8060 %1 =AYtk
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@ 2.68 +2.576 © 0.94 +4.17

® 6.213 - 1.865 ® 8-2111

® 0-6-66 @ 0-6-e-© ® 6-0-06

@e-cae 6 eoeo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 - 1.865 = 4.348

® 8-2.111 = 5.889
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23. thgolA 7Hg 2 S ol AYUAR

@ 0.01°] 213¢1 = @0.001 o] 2135¢1
® 0.001°] 20401 @ 0.010] 1992 %

A<
T
® 0.001°] 200421 4

~&B

@ 213

@ 2.135

® 2.04

@ 1.99

® 2.004

449 37 Ay BEol 245 30
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@® ©-6-0 ® 0-06

@ 1.04 Bt} 05 9 2 £ 1.54
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25. Al 259] siAlE HEEA AN AS 2R,

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
(@)(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 4+ 4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365
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100 9#e] 53 170 4.87golal, 50 @72 54 17= 3.9gol=tL
Ut 1009 A2 54 271 50 9] 54 37 F o] AHo] ¥
g O FAA] FokA L.

@ 100 2742 54 2707k 186 ¢ o FHL U
@ 5092 T4 37171 1.86¢ | FHSH.
@ 1009%2] &4 2717F 1.96 g H FHEUH.
@)s0 9744 52 3747t 1965 B TAEU.

® 100 9742 FA 2717} 197 B FHFUL

(100 Q48] TA 27])= 4.87 + 4.87 = 9.74( g)
(50942 54 370)=3.9+3.9+3.9 =11.7(g)
11.7-9.74 = 1.96(g)
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@ 0.38+0.84 © 1.84-0.17

© 047405 ® 1.9-0.62

® 0066 @o0ese ® 000
@ ©.6.00 ® ©6.0.0
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@ 0.38 4 0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47+0.5=0.97

© 1.9-0.62 =1.28

wabA] 0.97 < 1.22 < 1.28 < 1.67 4 Th

A Ayl 2 AL YR 7132 2H O, ©, @, ©dUh
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2.875 = 2+ 0.8 4 0.07 4 0.005

3.0683 = 3 + 0.06 + | |+ |
@ 0.8,0.03 @ 0.8,0.0003 ® 0.08,0.0003
@ 0.008,0.003 @0.008, 0.0003

&4 A A 2270 o] B2 YEHA| efot: Hur.
3.0683 = 3+ 0.06 + 0.008 + 0.0003
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B3, of@ 5917 F5HAL.

@ =257 E o] Foi gyt
1 N o
@ om0 o] 242 A7t 7dY
@ 453Kt 311, 454 Bk 25Ut

@ 7 A9 A4S B Gotd 28Ut

@)45.307 @ 45.337 ® 453
@ 45.327 ® 45.37
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Zhvt:as ][ ]7

Th: 453 <45] | 1 <454
a5+ |+ |+7=28

[]+[ ]+16=28

[[J+[ ]=12

@ @ s 45] | 1ol 24 24 25 $L 39Yth

A AR e 71 30188 45 B A4 = 97 HU T

kb 45.397
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